Ulpis lov - 9,15 Ulpi Sjlw 9)ld iS,u1402/12/29 @) spivo b (0,95) Jlw Sl plgaw ULalo 05le)1 599 (w90 goxo Wlowouas iE 9090
1 W0 9es goxo Sl S Jxo 9 Ule -l

1402/12/07 & ,90 axisivgs 39, 10:00 wclw Q.JT) oslell (g9 swenc goxxo U wecs pogas ;5 1402/11/24 £u,b 55 JIaS aloluw > 0yuiiiin (ST bl 11 (oS, plomw Ulslo 03l2)l 899 (swgoc goxo (1402/11/11 &0 DPM-IOP-02A-237 j9x0 0 Loy @ ylo o Jiwul39] je0 @ cylic U
3905 S35 paouai y1y Wl jgiws pogaz 53 9 13,5 51385 9,15 Ulps Silwgyls WSy « 171 SW ¢ o355k a29S G 19,39 Ll Gz wlo Sib Gix « 2,8 uogaxo 031> 9 yioglsS J=o,s

1 Al i > —0
oy inl38l pogazx 5> 1S puoai

35l ylw

I W 90L RO Al ol — 2

% 0 8964 wwou,Slaue S0 ;SlST
% 1.84 9934920 o,y daw Vs sBI
% 16.9 91234512 392 Ol oo SBI

% 30 161999892 o Ulyps Sy
% 40.96 221206572 3155 S aaw Luzaw SBI

f s bun> QiaoS gy 9 Jole pudo 9 0100 LD sSlacl -0
D cowl 0590 o3 2y Givyl3S 3590 (sdlo JLw,s 00 wid Slacl o3l

e e ey ) e g e B et

Galbgo jue 0,000 iiud Gty b 0042539331 sl Saueaw Ju=alloue
lbgo jue 0)d0 Liud gac ,_5\.1.o| 0033341087 592 Ul doxo
Gbgo jue 030 Ciind gac wlol 0452645182 w0 3w Olas|
Gbgo jue 032300 Caind Jukad) wlol 0042839122 S35 Saueaw Jueaw

o b aeS G 9 Jole o wlazis

I —

0602240255 wwonSIlase Sesao Jole yao

) wind sSlacl ->
105003,S Lol o3 i duusdeid Slacl (wgac goxo &> 5 ool Joca s8], Gwlwly

. gaxo ua) Ulgacdy 313 Saugaw u2aw il [SBI

. @ax0 b Ulgicay 9 Uiy doxo pils [SBI

. @ox0,bU Ulgicay (o) dpw Ul pils /Bl

. gaxo (sainio Ulgicay (sl sl3iy0e> all Jad pils /B



! Aaad> y9iwd U abul) 5o 0o Wlowowai -,

Glw b sads 5,0l
5l pass 8>

e ul)laelpw

losw Ginls9l gleo
(b, Usilo)

o ,w w38l 30,5

s
(U gelio)

900 addlgo (5 Joax 2y ) lo pw w391 b goxo
o2 il loow 0,3

(UL, Ss.l.o)

| csabas | 241 | 1,300,000 | 0 o | [ 1,300,000 |
e L 0 [ o I v [ o [ o]
| JS g I 241 | 1,300,000 | | o | | 300,000 ||

540,000

1,000 540,000,000

tlo pw il 391w Saw Ul - yw

) ABlgS e W 8 Sy i Brpe 333 Boxe ol Syl35 0l b b @l pus ilsl (S 1402/12/29 S090E 830 S35y Oloj @ g L

4 spiio Aldlw ssle

>)le0 plw
1ologi
aoliwlwl 5 05l 2Wol



